Open Book Quiz - Ch21 Electric Charge
(Duration: 30 minutes)

. Two small beads having positive charges 3q and q are fixed at the opposite
ends of a horizontal, insulating rod, extending from the origin to the point
x=d. As shown in Figure, a third small charged bead is free to slide on the

rod. At what position is the third bead in equilibrium? Can it be in stable
equilibrium? +3¢
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. Two particles are fixed on an x axis. Particle 1 of charge 50 uC is located at

x=-2.0 cm; particle 2 of charge Q is located at x=3.0 cm. Particle 3 of
charge magnitude 20 puC is released from rest on the y axis at y=2.0 cm.
What is the value of Q if the initial acceleration of particle 3 is in the
positive direction of the y axis?

® Q 7 '[,m{, @ 19N 07[0 5 /a_+4/—auo
o I Ly
sopc 0" 8 0 \ﬁll_klzgy_oc__ﬂj_f_ﬁe_;_'z , Byx=1RlGsts
o 2\ ™ e e A
AP RER THL I -
020) are fined posrire il - L@_m Lt e

@ 15 ’eéasdfﬂ)ﬂ’ resd 0_ tan _él’_o.i"—-—_—z 31
s SR R 2310 0'» C= 90 a 3

- LIMIOCHSWUDC} k/@ﬂgcl@ Cs 369 lgi/;ﬂ_éﬁ-——i‘i&

Ix/0 I A , 73x10
Gosis




Open Book Quiz - Ch22 Electric Fields
(Duration: 30 minutes)

1. A positive point charge q;=8 nC is on the axis at x;= -1 m, a second
positive point charge q,=12 nC is on the c¢ axis at x,=3 m. Find the net

electric field (a) at point A on the x-axis at x=6 m, and (b) at point B on the
X-axis at Xx=2 m.
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2. A charge of 40 nC is uniformly distributed along the axis from x = 0 to x=2

m. Determine the magnitude of the electric field at a point on the x-axis
with x =8 m.
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Take Home Quiz - Ch23 Gauss’Law
(Due to: Oct 30, 2018 (Class Hour))

. An infinitely long cylindrical insulating shell of inner radius a and outer radius
b has a uniform volume charge density p. A line of uniform linear charge

density A, is placed along the axis of the shell. Determine the electric field in
the following regions:
a) r<a
b) a<r<b
c) r-b
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Open Book Quiz - Ch24 Electric Potential
(Duration: 30 minutes)

1. What is the magnitude of the electric field at the point (3i-2j+4k) m if the
electric potential in the region is given by V=5xyz*, where V is in volts and

coordinates X, y, and z are in meters?
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Open Book Quiz - Ch26 Current and Resistance
(Duration: 30 minutes)

1. The magnitude J of the current density in a certain lab wire with a circular
cross section of radius R=2.00 mm is given by J=(3.00x10*)r*, with J in
amperes per square meter and radial distance r in meters. What is the
current through the outer section bounded by r=0.900R and r=R?
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2. Wire C and wire D are made from different

materials and have length Lc=Lp=1.0 m. The o
resistivity and diameter of wire C are 2.0x10°

Q.m and 1.00 mm, and those of wire D are | L | Lp |

1.0x10° Q.m and 0.50 mm. The wires are
joined as shown in Figure, and a current of 2.0 A is set up in them. What is
the electric potential difference between (a) points 1 and 2 and (b) points 2
and 3? What is the rate at which energy is dissipated between (c) points 1
and 2 and (d) points 2 and 3?
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Open Book Quiz - Ch27 Circuits
(Duration: 30 minutes)

1. In Figure, Ri=100 Q, R,=R3=50.0 Q, R4=75.0 Q, and the ideal battery has
emf £=6.00 V. (a) What is the equivalent resistance? What is i in (b)
resistance 1, (¢) resistance 2, (d) resistance 3, and (e) resistance 47
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Open Book Quiz - Ch28 Magnetic Fields
(Duration: 30 minutes)

1. An electron of kinetic energy 1.20 keV circles in a plane perpendicular to a
uniform magnetic field. The orbit radius is 25.0 cm. Find (a) the electron’s

speed, (b) the magnetic field magnitude, (¢) the circling frequency, and (d)
the period of the motion.
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Open Book Quiz - Ch29 Magnetic Fields due to Currents
(Duration: 30 minutes)

1. Figure(a) shows two wires, each

carrying a current. Wire 1 consists of ?’\‘

a circular arc of radius R and two R i R

radial lengths; it carries current i;= " ' ol 1.
2.0 A in the direction indicated. Wire \
2 is long and straight; it carries a R iy (A)
current i, that can be varied; and it is @ ®)

at distance R/2 from the center of the arc. The net magnetic field B due to
the two currents is measured at the center of curvature of the arc. Figure(b)
is a plot of the component of B in the direction perpendicular to the figure
as a function of current 1,. The horizontal scale is set by 1,3 = 1.00 A. What
is the angle subtended by the arc?
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